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Explanation

Jun wants to add together 3-digit numbers.     

I want to use 
column addition to 
add together 143 
and 134

Start with the smallest 
place value numbers 
first. 3 ones add 4 ones 
equals 7 ones.

143 can be 
partitioned into 
1 hundred, 4 tens 
and 3 ones.

+

1s10s100s

134 can be 
partitioned into 
1 hundred, 3 tens 
and 4 ones.

4 tens add 3 tens 
equals 7 tens.

1 hundred add 
1 hundred equals 2 
hundreds.

143 + 134 = 277



Explanation

Jun uses column addition to add 143 and 134    

I start with the smallest 
place value numbers first. 3 
ones add 4 ones equals 7 
ones.

143 can be 
partitioned into 1 
hundred, 4 tens 
and 3 ones.

134 can be 
partitioned into 1 
hundred, 3 tens 
and 4 ones.

4 tens add 3 tens 
equals 7 tens.

1 hundred add 
1 hundred equals 2 
hundreds.

143 + 134 = 277
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Explanation

Jun uses column addition to add 328 and 230    

I start with the smallest place 
value numbers first. 8 ones 
add zero ones equals 8 ones.

328 can be 
partitioned into 3 
hundreds, 2 tens 
and 8 ones.

230 can be 
partitioned into 2 
hundreds, 3 tens 
and 0 ones.

2 tens add 3 tens 
equals 5 tens.

3 hundreds add 
2 hundreds equals 5 
hundreds.

328 + 230 = 558
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Practice

Task A

1) Complete each column addition.

a) 223 + 342 = ___ 
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b) 313 + 266 = ___
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Practice

Task A

2)   Use the equations to complete each column addition.

a) 523 + 162 = ___

+

1s10s100s

b) 530 + 262 = ___

+

1s10s100s







Explanation

Aisha and Sam represent 266 − 125 as a column subtraction.    

We start with the 
numbers with the 
smallest place value.    

The minuend always appears first 
in a column subtraction. The 
subtrahend is written underneath.    

6 ones subtract 5 
ones is equal to 1 
one.   

6 tens subtract 2 
tens is equal to 4 
tens.   

266 − 125 = 141   

6 6

2 5−

4 1
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2 hundreds subtract 1 
hundred is equal to 1 
hundred.   



Explanation

Aisha and Sam represent 367 − 305 as a column subtraction.    

We start with the 
numbers with the 
smallest place value.    

7 ones subtract 5 
ones is equal to 2 
ones.   

There are no tens 
to subtract. 

We don’t really need to write a zero in 
the hundreds column. 
367− 305 = 62   

6 7

0 5−

6 2

3

3

0

3 hundreds subtract 3 
hundreds is equal to 
zero.   



Practice

Task B

5 5
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a) b) c) 

1) Complete each column subtraction.



Practice

Task B

2)   Complete each equation using column subtraction.

−

a) 463 − 122 = ___   b) 786 − 564 = ___   

−
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